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Introduction

Public lands throughout the United States must have management plans. Management can range in the level of involvement from a lot to nearly none. The main goal of a management plan can be to make a profit, or at the other extreme, it could be to protect a species or environment with no monetary benefit. 

In this session, you will play the role of a forest manager. You will first decide what the goal of your forest will be and then you will choose management practices that will fit your goal. By the end of the simulation, your forest will have undergone three periods of growth, three events, and three rounds of harvesting. 

Important words/terms:

Coarse Woody Debris (CWD):_____________________________________________________

Sustainable:____________________________________________________________________

Fire management:_______________________________________________________________

Monoculture:___________________________________________________________________

Regeneration:__________________________________________________________________

Management Decisions:
1. What is the goal of your forest i.e. high profit, sustained timber, protect wildlife, recreation? ____________________________________________________________________________________________________________________________________________________________

2. Decide what management strategies you will implement:

- Does your management plan include:    ( Coarse woody debris/snags     ( Fire
     ( Neither

- What percent of your trees will you harvest each time? ____________%

- How will you plant your trees?


        In rows



Scattered

       Scattered with openings



( 



       (




 (
- Will your stand be a monoculture or mixed? ________________ 


If mixed, how many and which types will it have (see below)? __________________

SIMULATION

Tree type

Toothpick color

Unit worth
Pine


Yellow



4

Oak


Green



3

Poplar


Blue



2

Maple


Red



1

Round 1


Setup:


1. Everyone begins with 20 trees and 100 monetary units.

2. Arrange your trees in the way you specified above (i.e. in rows, scattered, or scattered with openings)

3. Subtract the appropriate number of units for coarse woody debris, fire, and/or recreation if you chose those 
management techniques.


Event: 

1. Spin the wheel of uncertainty  ____________________


2. Read what happens on the Event List


3. Add or subtract units.


Harvest:

1. Harvest the percentage you wrote above unless the Event List tells you otherwise.


2. Collect units for timber according to species


_____ = _____x 4 + _____x 3 + _____x 2 + _____


total
    pine
           oak
     poplar         maple


3. Visitor fees of +5 (if you chose recreation)

Round 2

Growth:
1. Saplings that were once too small to harvest have matured. Add 5 trees to your plot, plus 2 more if leaving openings was part of your management plan. 

2. Create CWD and subtract the appropriate number of units for coarse woody debris, fire, and/or recreation if you chose those management techniques.


Event: 

1. Spin the wheel of uncertainty _____________________


2. Read what happens on the Event List


3. Add or subtract units.


Harvest:

1. Harvest the percentage you wrote above unless the Event List tells you otherwise.


2. Collect units for timber according to species.


_____ = _____x 4 + _____x 3 + _____x 2 + _____


total
    pine
           oak
     poplar         maple

Round 3

Growth:
1. Saplings that were once too small to harvest have matured. Add 5 trees to your plot, plus 2 more if you left openings. 

2. Subtract the appropriate number of units for coarse woody debris, fire, and/or recreation if you chose those management techniques.


Event: 

1. Spin the wheel of uncertainty _____________________


2. Read what happens on the Event List


3. Add or subtract units.


Harvest:

1. Harvest the percentage you wrote above unless the Event List tells you otherwise.

2. Collect units for timber according to species.


_____ = _____x 4 + _____x 3 + _____x 2 + _____


total
    pine
           oak
     poplar         maple




   (
Name:

(
	Round
	# Trees
	Choice/Harvest
	Add/Subtract
	Units

	START
	
	
	
	100

	Setup 1
	
	CWD
	-
	

	
	
	Fire
	-
	

	
	
	Rec: Trail upkeep
	-
	

	
	
	
	SUBTOTAL
	

	Event 1
	
	???
	+
	

	
	
	
	-
	

	
	
	
	SUBTOTAL
	

	Harvest 1
	
	Trees sold
	+
	

	
	
	Recreation visits
	+
	

	
	
	
	SUBTOTAL
	

	Growth 2
	
	CWD
	-
	

	
	
	Fire
	-
	

	
	
	Rec: Trail upkeep
	-
	

	
	
	
	SUBTOTAL
	

	Event 2
	
	???
	+
	

	
	
	
	-
	

	
	
	
	SUBTOTAL
	

	Harvest 2
	
	Trees sold
	+
	

	
	
	Recreation visits
	+
	

	
	
	
	SUBTOTAL
	

	Growth 3
	
	CWD
	-
	

	
	
	Fire
	-
	

	
	
	Rec: Trail upkeep
	-
	

	
	
	
	SUBTOTAL
	

	Event 3
	
	???
	+
	

	
	
	
	-
	

	
	
	
	SUBTOTAL
	

	Harvest 3
	
	Trees sold
	+
	

	
	
	Recreation visits
	+
	

	END
	
	
	FINAL TOTAL
	


Event List

Natural Fire: A large natural forest fire has swept through your tree stand.

· If you are using fire to manage, you lose only 10% of trees

· If you are NOT using fire to manage, you lose 50% of your trees

· All CWD is removed

Disease: Beetles have arrived and have made your trees susceptible to pathogens (diseases). A pathogen arrives and affects the trees closest to each corner (4 total) and every tree of that same species within 1.5cm from the infected tree. 

· Remove all infected trees and subtract the units that those trees were worth as timber.

Threatened Species: A woodpecker has been added to the State Threatened Species list. The woodpeckers require snag trees for cavity nesting.

· If your management plan includes downing trees, you can carefully harvest for profit. 

· If your plan DOES NOT include downing trees, you must turn your harvest into CWD to create habitat and subtract the lost units.

Invasive Vine: An invasive vine has made its way into your stand due to increased disturbance. This vine can grow vary large and wraps itself around trees reducing their value.

· If your harvest rate is higher than 25%, you had excessive disturbance and the vine has spread throughout your stand. The value of your harvested trees will be half.

· If your harvest rate is 25% or less, the vine did not make its way into your stand. Harvest as usual.

Increased Market: The economy is booming and there is an increased demand in timber products. 

· Everyone doubles the value of the timber during the harvest phase.

X: Nothing has happened to affect your stand. Harvest as usual.

Between rounds:

1. If you have coarse woody debris and a mixed stand, black bears come to live in your forest!

2. If you have more than 30 trees on your plot, there are not enough resources for the saplings and they fail to mature into harvestable trees. There will be no growth during the Growth phase.

Management choices
Choice


Action




Units






CWD


Sacrifice one tree to be CWD

- [4/3/2/1] (greatest tree value)

Fire


None




-5

Recreation

Maintenance of trails


-3

Recreation

Visitor fees collected


+5
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